W B M) - B S H AR L e 06— 1
- BEAR—Y 22— BEfF e _ _ ﬁ?@% o
=, B () =7, pume  |Emeh| (M
KAEBE(34.2mx43.2m) 1,475m mR
A T)—=F(61mX41m) 2,500 2,120 380 117.9%
(KB (28m X 23m) 645 23
HIT7)—F(32mXx22m) 7001 AEZE(31.8mx22m)700m BG 700 0 100.0%
BRI | 2EMEARES) 630| KBZC =S 180 450|  350.0%
% BEB(SHE) 580| (AHEAB =S 560 20 103.6%
SPER:) 500| =& J\FTE 170 330 294.1%
INET 4,910 ING 3,730 1,180 131.6%
B E 510| #=EE mE-BG 220 290 231.8%
E=E-PHER 250 RE=E-I—TA4VIIL—L mE-BG 95 155 263.2%
BN ERE LvU—F 250| FakeE-voT—F R 83 -BG 240 10| 104.2%
UK 20 Bux=E mE 10 10 200.0%
INET 1,030 ING 565 465 182.3%
AMUT)—FTBEFE 600| TRABEHER mE 95 505 631.6%
P

INEt 600 INE 95 505 631.6%
EBEHE 200\ HH= MR #3%-BG 150 50| 133.3%
EHE 30| HL AL 0 30 I
EHEERM W= 550| Hm= BG 30 520 1833.3%
= 50| B HE - H3 15 35| 333.3%
INET 830 INET 195 635 425.6%
FyX—L 401 7L el 0 40 S
TNV RR—IL-AE— 800| IURSVAR—IL-OE— mE 400 400 200.0%
L 280 kL mE-£%-BG 140 140 200.0%
$ FABFY EV 201 EV mE 10 10 200.0%
BEE (BT - REER L) 1,440 BEE(EET-FEREL) mR-£%-BG 590 850 244.1%
a2l 50| ZMDfth mE- 8% -BG 15 35 333.3%
INET 2,630 INE 1,155 1,475 227.7%
CEll 10,000 At 5,740 4,260 174.2%




